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General Inst @s:
1 Fi inutes time has been allotted from candidates to read the
stion paper.

Part'A’ and part'B'are divided into three sub-divisions a, band c.

2. 0 e question paperis divided into two parts - Part'A' and 'B.

In part'A' of the question paper, there are multiple choice questions
in which correct alternative is t0 be filled completely in the circles in

OMR sheet. .
1 mark is allotted for each multiple choice question of part'A',

Part'B' has descriptive questions.
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7. Mars allotted for each multiple choice question of part ‘A" written
opposite them,

8. All the questions of each Sub- division of part 'B' are to be
attempted all ata time. Start each question from a new page.

9.

All questions are complilsory.
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Where does most of the refraction takt@v en light enters the
eye.

(@) Onthecrystallinelens he clear corana (Cornea)
(c) Ontheiris nthe pupil
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According a@s law, the graph between potential difference
e?

andcurre ‘

(a) S@Hine (b) Circle

(Qmicircle (d) linethatchanges continuously
ine that changes continuously
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The unit of magnetic field ?
(@) Newton?/ampere - meter (b) Newton-meter?
(c) Newton/ampere-meter (4) Noneofthese
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\®. 400800 A° . 400-800 A
. 400—800 ey H.  400-800 fahency

The wave length range of a plane visible lightis -

(@) 400-800A° (b) 400-800n.m
(c) 400-800 m.m (d) 400-800Km
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Which color has the least scattering for light ? g
(@) Violet (b) Blue 6
(c) Yellow (d) Red
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Whatis the focal length of p rror ?
(a) 50cm o (b) Zero
(c) Infinite 0 (d) Noneofthese
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% IR 6 9. VR
. VIR

%\f the following term currently represents the ®lectricg

a) IR (b) V'R
Qo (c) VI (d) VIR

S BT AT A B
@, PbCO, | 9. Fe,05.xH,0
T. Fey04 9. FeCo,.xH,0
Chemical formula hydrated feic oxideis -
(b) Fe203.xH0
] :::Coo3 (d) FeCoy.xH,0O
. (C;. 2Vs (3) o
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\ & Na,COy10H,0 @ NaHCO,
7. NaCl g NHCI
Chemical formula of washing powder is.
(a) Na,COs*10H:0 (b) NaHCOs
(c) NaCl (d) NH.CI
10. LHEIG 2|
\ & Zn W Ag
1. Mg °. Na
1. TohH & — 0’
®. CsHs . C,H, Q
7. CaHs " C4Hy 6
Alkeneis - \0
(@) CsHe (b) &
(c) CsHg Q . y

12 cmcocmmnumcwm?k
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N \0 g
IUPAC name of %@CH3 is

(a) Propanb
s

(b) Propanone
(d) Propanal

- 13, I}WW? |
Q HCI . HCOs
CHsCOOH g g BE AL
Q Strong acidisinfollowing -
&) Hel (b) H,CO,
14 o C.HscooH (d) Noneofthese
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Number of Salivary glands in human beings is.

(8)  One pair (b) Two pair

(€) Three pair (d) four pair .
Tfom wfa drar ?
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Insulin is secreated by

7. gy afXa gy . gYUIERI
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(@) Thyroid gland (b) Pancreas
(c) Pituitarygland (d) Testes
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Mendalis famous. Q
(@) Forthefield of heredity Iscovery of DNA

(c) Foreugenics
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Which of @wing is producer.

rconservation of biodiversity

\0 Q. WX 1

(a)‘ (b) Lion
(d) GreenPlants
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Exocnne gland of human beings s -

(a) Pituitary gland

(b) Thyroid glang

(c) Liver (d) Adrenalglang
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Ranviar Node is situatedin-

(a) Cyton () Myton

(c) Axon (d) Telogendria

gz g | |
# LH 9. ACTH

1. S.TH. 9 FSH

Growth hormone is - &
(a) LH (b) ACTH. o
c) S-TH. (d) F.SH.
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How many types of eye def e there ? Explain with neat and
clean diagram about myopidard Hypermetropia ?

faegd 11 & HEATY 7 7 qAFd & 7 &g a1 yartad
9 I @R A a»-rgaam(l)amuf?ma(a)a%qz‘m
fefequ | 4

What x understand by heating effect of electric current ?
rmula of heat produced in the wire in terms of current

&nstance.
3. Q w1 Ay & 3 fegd arrare] A W A qA 9 F

Y3 @Y YHEIE | 4
Explain the force acted upon the current carrying conductor located
Ina uniform magnetic field.

Vg1 Wi @ Riggre, e od @rifafd @1 wifEa 3o R | 6

Bneﬂy describe the pnnaple. structure and working of an electric

otor with diagram 7
or / HA4dl
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7. AdB ﬁﬁ&ﬁa‘;mﬁwm}%

Find outthe following figure ?

(a) Equivalentresistance | é>
(b) Total valid current flowing in the circuit. o

(¢)  Potential difference between paintsAand B

SERIE ection - B)

QIS oI 3% A s

Write the differenc een minerals and ores ?
HESICIER! 87 HYW AT I ETZLIHTAT S
forRau ! Q )
whw ydrocarbon ? Write the difference between Saturatey

d unsaturated hydrocarbon.

st & A TS O sy ke e
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Write three reactions of chémical properties of acetic acig ang

write its one use.
or/31Ad1
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Write three reactions ©f chemical properties of Ethyl-Alcohoy Ang
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8.  Ofid T JWMAP Tewi @1 qviy Bty | 4
Describe the biotic and abiotic COmpOnents’

9. mwmfa‘vma%wmmmmwm

g o @ ? &
Describe that Experiment of Photosynthesis is which ox i
librated. &

0. 579 # o Fufvor &1 aviw #ifte qur T e

ARG | 6 4

Describe Sex determination in human 'Qhe help of linear

diagram.

1. 79 Ured 5 &1 9fe quig | 6
Describe the digestive syst uman with the help of lebelled
diagram ? |

Do
wferadt foba 99 BT |
Describe 1h®< action with diagram ?

N
0‘<

R





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

